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[ Learning Target 2 - | can classify a system of linear equations.]

> classify a system of linear equations, look at the number of solutions.

 independent system - a system that has one unique solution - equations
have different slopes

 dependent - a system that has an infinite number of solutions since bot'héQ .
equations represent the same set of points (the same line) C o in e /& ¢ '\ﬂ

 inconsistent system - a system that has no solution since the lines are

arallel - (same slope - different y-intercepts
p ( p y pts)

Graphical Solutions of Linear Systems in Two Variables

Intersecting Lines Coinciding Lines Parallel Lines

one solution no unique solution no solution
Independent Dependent Inconsistent
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9 Without graphing, classify each system as independent, dependent, or inconsistent.
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